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vold displayHMenu()

cout << "1.
cout << "2,
cout << "3,

Child Membershipin"™:

wvolid displayMenul() :
int getChoice():
vold computeFees (char, double,

CHILD RATE = Z0O.00;
flint maini) 1

cdo§
dizplavMenul) ;

if [(choice !'= 4]

cin »»> months:

switch (choice)

caze 1: cowputeFees('L',
hreak:

case Z2: computeFees('C',
hrealk:

'

I

} while (choice '= 4):
return 0O;

| choice = getChoice(): // Lssign choice
A to it by the getChoice function.

int) :

cout << "4, Quit the Frogram\n\n";

cout << "‘“n\tHealth Club Membership Menu'n'n";
Standard Adult Membershipin"™:

Senior Citizen Membershipi\n™:

int choice, /¢ Holds the user's menu choi while
wonths: S/ Nuber of wonths being paid

H

H

i1 Choi
const double ADULT RATE = 40.00, SENIOR Ra] . - S5FCReies()

int choice;

cin »>» choice;

(choice < 1 || cholce > 4)
{ cout << "The only

valid choices are 1-4.

cin >» choice;

return choice;

Flease re-enter.

.
r

cout << "For how many months? ™)

LDULT RALTE, month

CHILD EATE, month

case 3: computeFees('3', JENIOR _RATE, months);

wvold cowputeFees (char memberType, double rate, int months) {

cout << endl
<< "Menbership Type oo mwemberType << endl
<< "Monthly rate §" << rate << endl
<< "MNumber of months: " << months << endl
<< "Total charges : §"<< (rate * montha)
<< endl << endl:;

Health Club Membership Menu

. Child Memhership

4. Quit the Program

For how many months? 2

emherzship Type = A
onthly rate 248
umher of months: 2

otal charges : $8A

oabeso ) Hlito Cg)b,x,wb Al gio j] c 1wl colGii) w)l5 aSesnlSis

- Standard Adult Memberzhip

- Senior Citizen Memberszhip
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Original Argument
(in its memory location)

—

Function Parameter
(in its memory location)

| 12




volid funcl (double, int); // Function prototype C lU.D ——
int main({)

int x = 0;
double v = 1.5;

cout << X << " " << v << endl;
funcl (v, =)

cout << X << " " << vy << endl;
return 0;

}

vold funcl (double a, int b)

cout << a << " " s B << endl;

a = 0.0;
b = 10:;
cout << a << " " < b << endl:;

}
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Function —
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result = gquare (number):;
L 2

int square (int number)
{

400 —,

return number * number:

if (square(number) > 100) -8
cout < "big square\n"; : &'B
qgé

sum = 1000 + square(number):
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// Function prototype
bool isEven(int);

int main(} Enter an integer and I will tell you if it is even or odd:
) 67 1= odd.

int wal;

cout << "Enter an

cout <« "if it iz even or odd: "

cin »» wval;
if (isEwveni(wval))

cout << wal << " is even.\n":
else
cont << wal << " iz odd.\n";
return O; bool isEven(int number)
3 .
if (mumber % 2}
return false; S/ The number is odd if there's a remainder.
L
elze= 2
return true; // Otherwis=se, the number i=s even.

}
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#include <iostream:-
using namespace std;

int Integex;

char aCharacter:

char string [20];
unsigned int Humber0fSons;

int main ()

{

unsigned shoxt Age;
float AHumbex, AnothexOne;

cout << "Entex your ﬂg‘E:";
cin >=> Age;

Global variables

Local variables

Instructions
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vold anotherFunction(): // Function prototype

int main()

int num = 1; // Local wvariable

cout << "In main, num iz " << num << endl;
anotherFunction()

cout << "Back in main, num iz =till " << num << endl;
return 0;

}

vold anotherFunction|()

int num = 20; // Local wvariable
cout << "In anotherfFunction, num i=s " << num << endl;
¥

In main, num is 1

In anotherFunction, num 1=
ack in main, num 1= =ti1l1l

28
1
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ginclude <iostream>
using namespace std;

int globallum;

int maini)

{
cout << "globallNum is " << globalNum << endl;

globalMum iz B

return 0;
}
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volid A{)
// Function prototypes { int mom = 100; f/ Local variable
void A() > cout <€ "\nThere value of num is: " << num}?
void B(): }
int num = 10; // Global variable void B()

{ int mam = 200; // Local wvariable
cont << "\nThere value of num is: ™ << num?
}

int main()
{

cout << "\nIn main, the value of
a():

B():
cout << "\nBack in main, the value of num is: "™ << num <<endl;
return 0;

}

n main, the value of num is: 18

There value of num i1s: 184

There value of num is: 28H
Back in main. the value of num 1i=s: 18
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vold f£():
vold gf):?
int x = 11;
] int main()

int ®x = 22:;

int ® = 33;

cout << "In block in=side main(): x = " << x << endl;
¥
cout << "In main(): x = " << X << endl;
cout << "In main(): ::Xx = " << 11X << endl;
£}
i) w =
-} // end scope of main()

lwvolid £1{)
. FC: x
)=
int X = 44;
cout << "In f(): = = " << ® << endl;
-y // end scope of ()

| vold gf)

cout << "In gi(): = " << ® << endl; 10

-}
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// Function prototype
void showLocal():
int main()

{ localMum
showLocal () ; localMum

showLocal () ;
recturn 0;

}

void showLocal ()

{
int localNum = 5; // Local variable

cout << "localNum 13 " << localNum << endl;

localNum = 99;
}
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$include <iostream>
using namespace std;

// Function prototype
void showStatic():;
int main()

{

for (int count = 0;

showStatic():

return 0;

}

void showStatic()

{
static int statNum;

cout << "statNum 1is
statNum++;
}

count < S5; count++)

// Static local variable

" << statNum << endl;

15
is
is
is
is




=tatMNum

otatMNum
ctatMum

ctatMum
;tatHum

// Function prototype
void showStatic():
int main()

{

for (int count = 0; count < 5; count++)

showStatic():

return 0;

}

volid showStatic()

{
static int statNum=5; // Static local variable

cout << "statNum is ™ << statNum << endl;
statNum++;
}
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// default values in functions
#include <iostream>
using namespace std;

int divide (int a, int b=2)

{
int r;
r=a/b;
return (r):;

}

o

int main ()

{

cout << divide (12):;
cout << endl;

cout << divide (20,4);
return 0;




// Function prototype with default arguments (;“5
void displayStars(int = 10, int = 1);

int main()

{

displayStars():
cout << endl;
displayStars(S)
cout << endl;
displayStars(7, 3):
return 0;

}

void displayStars(int cols, int rows)
{

for (int down

{

Uses default values of 10 and 1 for cols and rows

Uses 5 for cols and default value of 1 for rows

Uses 7 for cols and 3 for rows (no default values)

0; down < rows; down++)

for (int across = 0; across < cols; across++)
cout << '"¥*';
cout << endl;
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int main{()
int userlnt;
double userReal;
cout << "Enter an integer and a floating-point wvalue: ";
cin >> userlInt >> userBReal:;
cout << "Here are thelir =squares: ";
cout << =sqguare{userInt) << " and " << =quare (userBeal) << endl:;
return 0;
' integer and a floating—point value: 7 5.6

their SqUares : 49 and 31.36
int square(int number)

return number * number:

}-
double sqguare (double number)

return number * number:

}




#include <iostream>
using namespace std;

int operate (int a, int b)
{
return (a*b);

}

float operate (float a, float b)

{

return (a/b);

}

int main ()
{
int x=5,y=2;
float n=5.0,m=2.0;
cout << operate (x,Vy):
cout << "\n";
cout << operate (n,m);
cout << "\n";
return 0O;

Jio =

1 O
-
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int square(int)
double square(int)
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inline int cube(int x)
{ // returns cube of x:
return X*x*Xx;

}

int main()

{ // tests the cube() function:
cout << cube(4) << endl;
int x, y;

cin >> X;

y = cube(2*x-3) ; int main()

} { // tests the cube() function: i &
cout << (4)*(4)*(4) << endl;
int x, y;

sptbenn aliyS 8 o aigS ) pbluats Ly [

Y = (2%X-3) % (2%X-3) *(2*X-3) ;
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void doubleNum(int &refVar)
{

o 10 INt @ iy o refVar usio

void doubleNum(int &);
void doubleNum(inté&):;

refVar *= 2;

}
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S Function prototype. The parameter is a reference wvariable.

vold doubleNum(int&):; ~

int main()

i

int wvalue

cout <<
cout <<
doublelum (value) ;

cout <<
return 0;

}

value i=s " << wvalue << endl:

"In main,
ling doubleNum..." << endl; f

"MNow ca

"Now back in main, wvalue i= " << wvalue << endl;

) ) B S csn IS cscla)) pxin b &S conlSiia

~

SMSesh <o dpbesh Ey) ) b aS cspsin csy)

Original Argument 4

Reference Variable

{

¥

vold doublelNum

refiyar ==

(int& refVar)

In main, value is 4

Mow calling doubleMum. ..
MHow back in main,., value is i
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volid doubleNum(inté) ;
vold getHum(int&) !
int main)

int value=0;

getlum (value) ;

doubleNum (value) ;

cout << "That wvalue doubled iz " << wvalue << endl;

return 0;

} Enter a numbher: 45

That value doubled

vold getHum(inté& u=serNum)

cout << "Enter a number: ":
cin > userium:

}
vold doubleNum (int& refVar)

refVar == 2:
¥
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doubleNum(5); // Brror
doubleNum(value + 10); // EBrror
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